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Modelling Natural Selection
Using the background information and materials provided by
your teacher, work in small groups and follow the steps below.
1. Your teacher will give you a bag of 20 “berries.” In a

data table like the one shown on the right, record the

total number of berries, the number of blueberries, and

the number of raspberries. Give
bl tle. Al for f Total Number | Number of Number of
yolptsbietaiisRelowioniot of Berrles Blueberries | Raspberries
populations of berries. "
Population 1
2. Read all the steps and predict (Season 1)
what will happen to the numbers
of berries.
3. Each bear in the group “eats” four berries each make up the correct complement of berries
year. Where bears prefer blueberries over for the next season.

raspberries, to “eat” four berries, remove four 5. Repeat steps 3 and 4 for three more

counters and place them in a container. If you populations/seasons of berries.

do not have four blueberries (blue counters) 6. Graph each population result. Use your

I preuy B3, E=m el wihEievey bnEaiis results to answer the following questions.

you do have, plus one to three raspberries .
* What happened to each population of

(red counters) for a total of four berries. . -
berries? Explain your answer.

4. A season passes. Each berry leftin your bag O

produces five new berries of the same colour, . i
selection? Explain your answer.

for a total of 20 for the next season. Replenish

your supply of berries from your teacher to R pecean




Prediction

	


Data Table
	
	Total Number of Berries
	Number of Blueberries
	Number of Raspberries

	Population 1 

(Season 1)
	
	
	

	Population 2 

(Season 2)
	
	
	

	Population 3 

(Season 3)
	
	
	

	Population 4 

(Season 4)
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Questions:
1. What happened to each population of berries? Explain your answer. 
	


2. Is this an accurate model for natural selection? 
	


3. Evaluate your prediction. 
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